Procedural Details for the Proposed Test

Definition of terms used in proposed test:

Test:  The complete experiment, from steps 1 through to 10. This involves as many runs (but no more than 10 for passing the test) as are required to record 5 Hits. 

Run:  One step through of steps 6,7  & 8 resulting in either a ‘Hit’ or a ‘Miss’.

Moderator: An independent person to be trusted and agreed by both parties.

Agency: An independent organization that deals with the moderator and the subjects, and is responsible for conducting the entire test in a fair manner.

Reader: The applicant/claimant who produces readings from birth information (Birth date, time, and place).

Subjects:  The persons chosen by Agency (in groups of five, up to 2 groups). They will be taking an active part in the current run, and will select the reading as described in step 7.

Reading: As much detail about the personal characteristics and other personal information predicted from the birth information and presented to agency in written form.

Birth information: Location, Date/Time of birth to the minute (all recorded by hospital records or birth certificates) 

Birth Time:  Specify the reference time if it's different than the clock time used at that location.  For instance, if a subject is born say 8 AM on July 4, 1970 in New York. Then we know it's 8 AM EDT (Eastern Daylight Time) or 7 AM EST. But if it’s specified as 8 AM (EST) then clarification would be required if it's already converted to EST, meaning the subject actually was born at 9 AM EDT.

Birth Place:  If the subject's place of birth is a small town and not listed on map then either longitude and latitude of that town or the nearest bigger town or city and the direction and distance of the city from the birth town should be provided.

Hit: When the subject picks the reading that corresponds to his (or her) birth time.

Miss: When the subject picks a reading that does not correspond to his (or her) birth time.

Pass: The Test shall be deemed to have been successful if there are 5 Hits recorded in 10 or less runs.

Method;
Test begins:  

Step 1: First group of 5 subjects are selected by the agency. When and if necessary, the agency will select the next group of five subjects. All five of these subjects in each group will have had their birth times recorded by the hospital in which they were born, and their physical characteristics will be different from each other.
Step 2: The moderator is issued with the birth information for each subject by the agency (one group of five at a time). The moderator is also provided with a current photo of each subject and a copy of their birth certificate and/or record of birth time by the agency. The moderator will not pass these photos or certificates on to the reader until after the test is completed.

Step 3:  The moderator passes a list of the five birth information sets to the reader, without informing the reader which birth time relates to which subject. At no time, until after the test, will the reader be issued with any information regarding the subjects except their birth times.

Step 4: The reader produces readings for these 5 birth information sets, without having any knowledge about subjects.

Step 5: The reader sends the readings to the moderator clearly marking the reading and the corresponding birth information set. The moderator makes a copy of the readings but excludes the corresponding birth information and provides that copy of the readings to the agency.

Run starts (The test run is conducted by the agency):

Step 6: The subject is issued with the five readings
Step 7: The subject picks the reading that most closely matches him (or her).

Step 8: The agency passes on the subject’s pick to the moderator. The moderator then checks the list of readings and their corresponding birth information sets to see whether the subject has picked the reading that correlates to their birth time. If the subject has picked the reading that corresponds to their birth time then the run is deemed a ‘Hit’, otherwise the run is deemed a ‘Miss’.

Run ends.

Step 9: The next subject is selected from the first group of five subjects (or from the second group of five subjects if all five subjects from the first group had already participated and had their run) and another run is started (ie, steps 6-8).

Step 10: If all subjects of the first group of five have been used as subjects before 5 “hits” have been recorded then repeat from Step 1for the next group five subjects until 5 “Hits” have been recorded.  The test ends when either all the ten subjects (two groups) are used or 5 “Hits” are recorded. 

Test Ends

If 5 “Hits” were recorded in 10 or less runs then the reader shall be deemed to have passed the test. 

A Typical Test Illustration:

The results are recorded in the form (Hits / Runs) (2/5) (this means 2 hits in 5 runs, thus 2 fifths of our runs resulted in hits) 

The target for success is 5/10 (of course, 5/9, 5/8, 5/7, 5/6 would all count as successes, and 5/5 would mean a perfect score) 

Test begins

The first group of 5 people selected by the agency. They are: Adam, Beth, Charles, David and Elle.  Their birth information sets along with their current photos and hospital recorded birth certificates are provided to the moderator by the agency.

The moderator issues the reader with their birth information sets. The reader works on the birth chart readings for each of the birth information set, though, of course, he doesn’t know which one is for which person.  The reader provides the moderator with five readings for five subjects of the first group solely based on birth information.  The moderator in turn passes a copy of those readings on to the agency without the markings of birth information on those readings. 

The test is conducted by the agency as follow:

Run 1)

For the first run of the test we treat Adam as the subject.

Adam is issued with the five readings.

Adam picks the reading that most closely matches him (it does not matter if there is no perfect fit, he will pick the one that is closest)

Agency passes on the pick to the moderator who then checks whether the reading that Adam has picked is the one that was based on his birth time.

If it is then the result of this run is a ‘hit’. If it is not then the result of this run is a ‘miss’

Adam picked the reading that corresponded to his birth time, so this is a ‘Hit’ 

(1/1) (1 hit out of 1 run)

 

Run 2)

Beth is the subject of this test.

We issue Beth with the five readings.

Beth picks the one that most closely matches her.

Agency passes on the pick to the moderator who then checks whether the reading that Beth has picked is the one that was based on her birth time.

If it is then the result of this run is a ‘hit’. If it is not then the result of this run is a ‘miss’

Beth picks the reading that corresponds to her birth time so this is a ‘Hit’

(2/2) (2 hits out of 2 runs)

 

Run 3)

Charles is the subject of this test.

We issue Charles with the five readings.

Charles picks the one that most closely matches his.

Agency passes on the pick to the moderator who then checks the reading that Charles has picked is the one that was based on his birth time.

If it is then the result of this run is a ‘hit’. If it is not then the result of this run is a ‘miss’

Charles picks a reading that does not correspond to his birth time so this is a ‘Miss’

(2/3) (2 hits out of 3 runs)

 

Run 4)

David is the subject of this test.

We issue David with the five readings.

David picks the one that most closely matches his.

Agency passes on the pick to the moderator who then checks the reading that David has picked is the one that was based on his birth time.

If it is then the result of this run is a ‘hit’. If it is not then the result of this run is a ‘miss’

David picks a reading that corresponds to his birth time so this is a ‘Hit’

(3/4) (3 hits out of 4 runs)

 

Run 5)

Elle is the subject of this test.

We issue Elle with the five readings.

Elle picks the one that most closely matches her.

Agency passes on the pick to the moderator who then checks the reading that Elle has picked is the one that was based on her birth time.

If it is then the result of this run is a ‘hit’. If it is not then the result of this run is a ‘miss’

Elle picks a reading that does not correspond to her birth time so this is a ‘Miss’

(3/5) (3 hits out of 5 runs)

 

At this point, the moderator informs the agency to select a next group of five subjects since 5 hits are not yet recorded, so the agency discards the readings for Adam, Beth, Charles, David and Elle and get a new set of subjects:  Fred, George, Hilda, Ian, Jane.  Their birth information sets along with their current photos and hospital recorded birth certificates are provided to the moderator by the agency.

The moderator issues the reader with the birth information sets of the second group. The reader now works on the birth chart readings for each of the birth information set for the second group, though, of course, he doesn’t know which one is for which person.  The reader again provides the moderator with five readings for five subjects of the second group solely based on birth information.  The moderator in turn passes a copy of those readings on to the agency without the markings of birth information on those readings. 

The test is continued by the agency as follow:

Run 6)

Fred is the subject of this test.

We issue Fred with the five readings (for Fred, George, Hilda, Ian, Jane).

Fred picks the one that most closely matches him.

We check to s Agency passes on the pick to the moderator who then checks the reading that Fred has picked is the one that was based on his birth time.

If it is then the result of this run is a ‘hit’. If it is not then the result of this run is a ‘miss’

Fred picks a reading that does not correspond to his birth time so this is a ‘Miss’

(3/6) (3 hits out of 6 runs)

 

Run 7)

George is the subject of this test.

We issue George with the five readings.

George picks the one that most closely matches him.

Agency passes on the pick to the moderator who then checks the reading that George has picked is the one that is based on his birth time.

If it was then the result of this run is a ‘hit’. If it is not then the result of this run is a ‘miss’

George picks a reading that corresponds to his birth time so this is a ‘Hit’

(4/7) (4 hits out of 7 runs)

 

Run 8)

Hilda is the subject of this test.

We issue Hilda with the five readings.

Hilda picks the one that most closely matches her.

Agency passes on the pick to the moderator who then checks the reading that Hilda has picked is the one that was based on her birth time.

If it is then the result of this run is a ‘hit’. If it is not then the result of this run is a ‘miss’

Hilda picks a reading that corresponds to her birth time so this is a ‘Hit’

(5/8) (5 hits out of 8 runs) 

Now, we have achieved 5 hits so the test is over. There is no need to do the runs for Ian and Jane.

 Test Ends

 

